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N.B.: (1) Question No. 1 is Compulsory.
(2) Attempt any three questions from remaining five questions.
(3) All questions carry equal marks. O

1. Attempt any five : q g 20
(a) Determine value of Z for maximum power transfer and calcula i
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(d) IfZ,=59Q,7Z,=7Q,7Z =7, =3afor atwo part network, find ABCD
parameters.

(e) Find the current through a capacitor of value 1/2 F given that voltage across

capacitor is
Ve(s)=o ‘f) .
S)=
ikl T K

~ (f) Test whether following polynomial is hurwitz.
P(S) = S*+2S*+S @

2. (a) Find V_using superposition theorm. 10
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# 2. (b) Find voltage across % r. 8
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3. (a) For given tree, find 10

(i) Incidence Matrix (i)  f-cutset matrix

shown. Find the values of

V. V. 21 92 i imet=0*
dt = dt

(b) For the network given below, switch is ope% ith initial conditions 10
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4. (a) Obtain% network shown. Use time domain approach. =
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(b) Determine i (t) and i, (t)

7

6. (a) Ch %c real function.
25 +2s+1

s3 4252 4542

4(s? +4)(s* +25)
s(s?+16)
Find Foster II and Cauer I forms.

®) Y(S)=
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